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[²Ì!“þ!Ýþ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þîû] 
 

!î¦þy† éôé „þ 
 

Unit – I 

1Ð öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [2×5] 

 „þV œ„þä !„þ¦þyöìî ›%…Ä=’ ç ö†ï’=öì’îû ›öì•Ä þ™yíÅ„þÄ !˜îû*þ™’ „þöìîûöìŠé˜Ú 

 …V œ„þä „þ#¦þyöìî Kþyöì˜îû ¢‚Kþy ö”˜Ú  

 †V îy„Åþöìœîû ”ŸÅöì˜ {Ù»öìîûîû ¦)þ!›„þy xyöìœy‰þ˜y „þîûÐ 

 ‡V !î›)“Åþ ¢y›y˜Ä •yîû’yîû !îîû&öìkþ îy„Åþöìœ ²Ì”_ ë%!_«=!œîû öë ö„þy˜ ~„þ!Ýþ îÄy…Äy „þîûÐ 
 

2Ð öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ 

 „þV œöì„þîû ²Ì!“þîû*þ™# îlßþîy” ¢!î‰þyîû xyöìœy‰þ˜y „þîûÐ [10+5] 

 …V îy„Åþöìœ !„þ¦þyöìî ‹vþüoöìîÄîû x!hßþc …[þ˜ „þöìîû̃ Ú ¢!î‰þyîû xyöìœy‰þ˜y „þîûÐ [15] 
 

Unit – II 

3Ð öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [2×5] 

 „þV òþ™)îÅ†y›# ¢‚Ÿëûîy”ó ~î‚ òx˜%†y›# ¢‚Ÿëûîy”ó îœöì“þ !£vþz› !„þ î%!GþöìëûöìŠé˜Ú 

 …V !£vþz›öì„þ x˜%¢îû’ „þöìîû ›%o’ ç •yîû’yîû ›öì•Ä þ™yíÅ„þÄ „þîûÐ 

 †V „þyrÝþ !„þ¦þyöìî ö”…y˜ öë ò7+5 = 12ó ~£z î‰þ˜!Ýþ ¢‚öìÙÕ¡ì„þÚ 

 ‡V „þyrÝþ !„þ¦þyöìî !îöìÙÕ¡ì„þ ç ¢‚öìÙÕ¡ì„þ î‰þöì˜îû ›öì•Ä þ™yíÅ„þÄ !˜îû*þ™’ „þöìîûöìŠé˜Ú 
 

4Ð öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ 

 „þV „þyîû’ ç „þyöìëÅîû ›öì•Ä xyî!ŸÄ„þ ¢Áºõþ xyöìŠé !„þÚ ~ !î¡ìöìëû !£vþzöì›îû ›“þ îÄy…Äy ç !î‰þyîû „þîûÐ [9+6] 

 …V „þyrÝþ !„þ¦þyöìî ²Ì›y’ „þöìîû̃  öë ö”Ÿ ç „þyœ x˜%¦þöìîîû þ™)îÅ“þƒ!¢kþ xy„þyîûÚ [15] 
 

!î¦þy† éôé … 
 

Unit – I 

5Ð öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [2×5] 

 „þV ë%!_«!îKþyöì˜ ²Ì“þ#öì„þîû ²Ìöìëûy‹˜#ëû“þy îÄy…Äy „þîûÐ 

 …V îlßþ†“þ ²Ì!“þþ™!_îû „)þÝþy¦þy¢ îœöì“þ „þ# öîyGþyëûÚ 

 †V ~„þ!Ýþ ¢“þƒ¢“þÄ îy„þÄöì„þ !˜öì¡ì• „þîûöìœ „þ# îy„þÄ þ™yçëûy ëyëûÚ vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

 ‡V ~ (Q R) ~ (R P) ~£z îy„þÄy„þyîû!Ýþ ë!” !›íÄy £ëû “þöìî (P R) (Q R)  éôé~îû ¢“þÄ›)œÄ !„þ £öìîÚ 
 

6Ð öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ 

 „þV i) ¢“þÄ¢yîû’# þ™kþ!“þîû myîûy !˜’Åëû „þîû !˜Á¬!œ!…“þ î‰þ˜y„þyîû!Ýþ ¢“þƒ¢“þÄ– ßþº“þƒ!›íÄy xíîy xþ™!“þ„þ ƒ [3] 

   [p (q r)] [(p ~ r) ~ q]     

  ii)  ¢“þÄ¢yîû’# þ™kþ!“þîû myîûy !˜Á¬!œ!…“þ ë%!_«=!œîû ÷î•“þy !î‰þyîû „þîûÐ [2×3] 

    R (P D)    (O P) Q   

    ~ P. ~ D   Q (O P)  

    ~ R   (O P) (O P)    

  iii) vþz”y£îû’¢£ ¢“þÄyöìþ™Çþ öëï!†„þ î‰þ˜ ç x¢“þÄyöìþ™Çþ öëï!†„þþ î‰þöì˜îû ›öì•Ä þ™yíÅ„þÄ „þîûÐ [4] 

  iv) !‰þhsþyîû ¢)eyîœ#  vþzöìÍÔ… „þîûÐ [2] 

 …þV i) ö„þyëûy£z˜öì„þ x˜%¢îû’ „þöìîû ÷î• îy„þÄy„þîû ç ¢‚†!“þþ™)’Å îy„þÄy„þyöìîûîû ›öì•Ä þ™yíÅ„þÄ ö”…yçÐ [3] 
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  ii) œ‡%„þîû’ þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ îy„þÄy„þyîû!Ýþîû ¢“þÄ›)œÄ !˜’Åëû „þîûÐ [3] 

   [(A B) (~ A ~ C)] (B C)    

  iii) œ‡%„þîû’þ þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î•“þy !î‰þyîû „þîûÐ [4] 

   (I J) (I J)     

   ~ (I J)  

   ~ (I J)  

  iv) ²Ì”_ îy„þÄ”%!Ýþîû ~„þ!Ýþ xþ™îû!Ýþöì„þ ²Ì!“þþ™y”˜ „þöìîû !„þ˜y þ™Çþþ™y“þ˜ þ™kþ!“þöì“þ !˜’Åëû „þîûÐ [2×2½] 

~ P P  , (~ P ~ Q) (Q R)     
  

Unit – II 

7Ð öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [2×5] 

 „þV ë%!_«!î!• ç îû*þ™yhsþîû !î!•îû þ™yíÅ„þÄ xyöìœy‰þ˜y „þîûÐ 

 …V ›y’„þ „þ#Ú ›y’„þ „þ“þ ²Ì„þyöìîûîû £ëûÚ vþz”y£îû’ ¢£ îÄy…Äy „þîûÐ 

 †V „þ…˜ ~„þ!Ýþ ë%!_« xy„þyîû x÷ìî• £ëûÚ 

 ‡V ›y’„þ “þöì_́îû ²Ìöìëûy‹˜#ëû“þy îÄy…Äy „þîûÐ 
 

8Ð öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ 

 „þV !˜Á¬îû*þ™ ë%!_«=!œîû xy„þyîû†“þ ÷î•“þy †àþ˜ „þîûÐ Söë ö„þy˜ !“þ˜!ÝþV ƒ [3×5] 

  i) (x)(Ix Jx)   

   ( x)(Ix ~ Jx)   

   (x)(Jx Ix)   

  ii)  ö„þy˜ î£z !‰þ_y„þ¡ìÅ„þ £ëû ö„þîœ ë!” “þy ¢%!œ!…“þ £ëûÐ ö„þy˜ î£z ¢%!œ!…“þ £ëû ö„þîœ ë!” “þy !‰þ_y„þ¡ìÅ„þ £ëûÐ 

   ¢%“þîûy‚ ö„þyöì˜y î£z !‰þ_y„þ¡ìÅ„þ £ëû ë!” ~î‚ ö„þîœ›ye ë!” “þy ¢%!œ!…“þ £ëûÐ 

  iii) ë!” “%þ!› !Ýþvþz!œöìþ™îû ‰þyîûy œy†yç “þy£öìœ ö“þy›yîû îy†yöì˜ xyöì† š%þœ š%þÝþöìî ~î‚ ë!” “%þ!› xÞÝþyöìîûîû ‰þyîûy œy†yç “þy£öìœ 
ö“þy›yîû îy†yöì˜ ö”!îûöì“þ š%þœ š%þÝþöìîÐ ¢%“þîûy‚– “%þ!› ë!” !Ýþvþz!œþ™ ~î‚ xÞÝþyîû vþz¦þöìëûîû ‰þyîûy œy†yç “þy£öìœ ö“þy›yîû îy†yöì˜ 
xyöì† ~î‚ þ™öìîû š%þœ š%þÝþöìîÐ  

  iv) ¢öìe«!Ýþ¢ £ëû ›îû’Ÿ#œÐ ¢%“þîûy‚– ¢öìe«!Ýþ¢ £ëû ~„þ‹˜ ”yŸÅ!˜„þ xíîy ¢þöìe«!Ýþ¢ ˜ëû ~„þ‹˜ ”yŸÅ!˜„þÐ  

 …þV A. ›y’„þ– îÄ!_«@ùÌy£„þ £z“þÄy!” îÄî£yîû „þöìîû !˜Á¬!œ!…“þ îy„þÄ=!œîû ¢y‚öì„þ!“þ„þ îû*þ™ ”yçÐ Söë ö„þy˜ ‰þyîû!ÝþV ƒ [4×1] 

   i) ö„þyöì˜y ö„þyöì˜y …yîyîû …yçëûyîû vþzþ™öìëy†# ö„þîœë!” ö¢=!œ îûy§¬y „þîûy £ëûÐ  

   ii) ŸÄy›œ ¦þyöìœy †y˜ †yëû– !„þlsþ ö¢ ˜y‰þöì“þ þ™yöìîû ˜yÐ    

   iii) ¢î x!¦þöì˜“þy ²Ì!“þ¦þyîy˜ ˜ëû ëyîûy ˜y› „þöìîûöìŠÐ   

   iv) ¢y‚îy!”„þîûy vþzþ™!ßþi“þ 

   iv) xyöìþ™œ ~î‚ „þ›œyöìœî% £ëû ¢%ßþºy”% ç þ™%!ÜT„þîûÐ 

  B. ¢“þÄ›)œÄ xyöìîûyöìþ™îû myîûy x÷ìî•“þy ²Ì›y’ „þîû Söë ö„þy˜ !“þ˜!ÝþV ƒ [3×3] 

   i) I ~ J   

    ~ (~ K L)  

    ~ (~ I ~ L)  

    ~ J K    

   ii) ö„þîœ›ye Šéyeîûy£z £ëû ¢”¢ÄÐ ö„þîœ›ye ¢”¢Äîûy£z £ëû ßþºy†“þÐ ¢%“þîûy‚– ¢„þœ Šéyeîûy£z £ëû ßþºy†“þÐ    

   iii) T U  

    U (V W)  

    V (T X)   

    T X  

    T X  
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   iv) ( x)(Kx Lx)   

    ( x)(~ Kx ~ Lx)    

    ( x)(Lx ~ Kx)   

 †V ¢›yíÅ„þ ”yç öë…yöì˜ ›y’öì„þîû þ™)öìîÅ ö˜!“þ ˜y£z ƒ ~ (x)(Cx ~ Dx)  [2] 
 

English Version 

[Use separate Answer Books for each group] 
 

Group – A 

Unit – I 

1. Answer any two questions : [2×5] 

 a) How does Locke distinguish between primary qualities and secondary qualities? 

 b) How does Locke define Knowledge? 

 c) Explain the role of God in the philosophy of Berkeley. 

 d) Mention any one of the arguments advised by Berkeley for refuting the abstract general idea. 
 

2. Answer any one question : 

 a) Explain and examine Locke's representative realism. [10+5] 

 b) How does Berkeley refute the existence of matter? Discuss. [15] 

 

Unit – II 

3. Answer any two questions : [2×5] 

 a) What does Hume mean by 'antecedent scepticism' and ‘consequent scepticism'? 

 b) Distinguish, after Hume, between impressions and ideas. 

 c) How does Kant show that '7+5 = 12' is synthetic? 

 d) Distinguish, after Kant, between analytic and synthetic judgement.   
 

4. Answer any one question : 

 a) Is there any necessary connection between cause and effect? Explain and examine in this connection Hume's 

view. [9+6] 

 b) How does Kant show that space and time are a-priori forms of intuition? 
 

Group – B 
 

Unit – I 
5. Answer any two questions : [2×5] 

 a) Explain the necessity of symbols in Logic. 
 b) What is meant by the paradox of material implication? 
 c) What do you get by denying a tautologous statement? Explain with example.  
 d) If ~ (Q R) ~ (R P)  is false then what will be the truth value of (P R) (Q R) ?  
 

6. Answer any one question: 
 a) i) Determine, by the truth table method, whether the following form of proposition is tauto-logous, self-

contradictory or contingent : [3] 

   [p (q r)] [(p ~ r) ~ q]     

  ii)  Test the validity of the following arguments by truth-table method : [2×3] 

   A. R (P D)   B. (O P) Q   

    ~ P. ~ D   Q (O P)  

    ~ R   (O P) (O P)    

  iii) Distinguish, with example, between truth functional compound statement and non truth functional 

compound statement. [4] 
  iv) Mention different laws of thought. [2] 
 b) i) Distinguish, following Quine, between valid schema and consistent schema. [3] 
  ii) Determine the truth value of the following statement form by the method of resolution. [3] 

   [(A B) (~ A ~ C)] (B C)    
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  iii) Test the validity of the following argument by the method of resolution. [4] 

   (I J) (I J)    ; 

   ~ (I J)  

   ~ (I J)  

  iv) Determine by the method of Fellswoop, whether the following schemata implies each other. [2×2½] 
~ P P  , (~ P ~ Q) (Q R)     

  

Unit – II 

7. Answer any two questions : [2×5] 

 a) Explain the distinction between Rules of Inference and Rules of Replacement. 

 b) What is a quantifier? What are its types? Explain with examples. 

 c) When does an argument-form become invalid? 

 d) Explain the need for quantification theory. 
 

8. Answer any one question : 
 a) Construct the formal proof of validity for the following arguments (any three) : [3×5] 
  i) (x)(Ix Jx)   

   ( x)(Ix ~ Jx)   

   (x)(Jx Ix)   

  ii)  A book is interesting only if it is well-written. A book is well-written only if it is interesting. 

Therefore, any book interesting if and only it it is well-written.  
  iii) If you plant tulips, then your garden will bloom early, and it you plant asters then your garden will 

bloom late, So, if you plant both tulips and asters then your garden will bloom both early and late.  
  iv) Socrates is mortal. Therefore, either Socrates is a philosopher or Socrates is not a philosopher.  

 b) A. Symbolise the following sentences using quantifier, individual variable etc. (any four) : [4×1] 

   i) Some foods are edible only if they are cooked.  
   ii) Shyamal sings well, but he cannot dance.    
   iii) All actors are not talented who are famous.   
   iv) Reporters are present. 
   iv) Apples and oranges are delicious and nutritious. 
  B. Prove invalidity of the following arguments by the method of assigning truth values (any three) [3×3] 

   i) I ~ J   

    ~ (~ K L)  

    ~ (~ I ~ L)  

    ~ J K    

   ii) Only students are members. Only members are welcome. Therefore, all students are welcome.    
   iii) T U  

    U (V W)  

    V (T X)   

    T X  

    T X     

   iv) ( x)(Kx Lx)   

    ( x)(~ Kx ~ Lx)    

    ( x)(Lx ~ Kx)   

 c) Give the equivalent which has no negation before the Quantifier : ~ (x)(Cx ~ Dx)  [2]  

  

 
 

 


